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Tick the correct options:​​ ​ ​ ​ ​ ​ ​ ​ ​ 1x 8 = 8
​ ​ ​ ​ ​ ​  
Q1. The difference between the place value of 2 and 4 in the number 1234536 is ___ 

(a)​      2,00,000     (b)      2,04,000      (c)  4,000 (d)       1,96,000 

Q2. 60 million = ___________ Crores. 

(a)​   6 crores    (b)   60 crores    (c)  600 crores      (d)   10 crores 

Q3. Digit in the ones place of the product of 783 and 896 is ____. 

      (a)    9   (b)   2    (c)  8     (d)   6 

Q4. 9999÷99 = ___________. 

(a)​  99   (b)   11   (c)  101    (d)   110 

Q5. The sum of the greatest 4–digit number and the smallest 6–digit number is______ 

(a)​  900000   (b)   109999    (c)  1099999     (d)   199999 

Q6. The prime factorisation of 36 is_______ 

      (a)   2×2×9    (b)  4×3×3(c)    12×3(d)   2×2×3×3 

Q7. The number 48 has ____________ factors. 

 (a)  6             (b)    7                 (c)   8            (d)    10 

Q8. The LCM of 10, 20 and 25 is______ 

(a)  75                  (b)    20                 (c)  50             (d)100 

Short type –1 (Each questions carry 2 marks): 

Q9. Write the number names following numerals. 

    (a) 9,00,71,318​ __________________________________________________ 

    (b)  30,000,003​ __________________________________________________ 

 

 



 

Q10. Find the product. 

         (a)  10,513 × 218 

 

 

 

 

 

         (b)  3,847 × 431 

 

 

 

 

Q11. (a) Write five multiple of 6. 

 

 

 

 (b)  Write all the factors of 12.. 

 

 

 

Short type–2 (Each questions carry 3 marks): 

Q12. A uniform set costs 1325 rupees .What will be the cost of 567 uniform sets ? 

 

 

 

 

Q13. Find the sum of the greatest 8–digit, 7–digitand 6–digit numbers. 
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